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QUESTION 1

Which command is used to renumber the nodes of an Isilon cluster?
A. innset

B. ipset

C. deliprange / iprange

D. interface

Correct Answer: D

QUESTION 2

Which requirement must be met on an Isilon cluster to be able to enable node compatibility?
A. Nodes must have the same number and capacity of SSDs, HDDs, or SEDs

B. New generation nodes must have less RAM than older generation nodes

C. Minimum of three new generation nodes must be added to the existing node pool

D. Any new generation node can be added to any older generation node pool

Correct Answer: A

QUESTION 3

Which type of information does the Isilon isi status command provide?
A. Job engine and critical alerts

B. Protocol and node statistics

C. Drive replacement and drive statistics

D. Drive statistics and hardware condition

Correct Answer: A

QUESTION 4

An organization has an Isilon cluster with 15 S-S210 nodes in a single node pool and 20 NL400 nodes in a second node
pool. They want to implement Global Namespace Acceleration. Which requirements must be achieved before Global
Namespace Acceleration can be activated?

A. All S210 nodes must contain one SSD drive SSD capacity must be at least 0.5% of the total cluster space
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B. At least seven S210 nodes must contain at least one SSD drive SSD capacity must be at least 1.5% of the total
cluster space

C. All S210 nodes must contain at least one SSD drive SSD capacity must be at least 2.25% of the total cluster space
D. All S210 nodes must contain at least one SSD drive SSD capacity must be at least 20% of the total cluster space

Correct Answer: B

QUESTION 5

How are events communicated from the CELOG daemon?
A. Sent by the CELOG notifications service

B. Sent by the MCP

C. Sent using SNMP only

D. Sent over ESRS only

Correct Answer: A
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